
© 2018 HumanCentric Ventures LLC www.humancentric.com

Model 101-2025

ENGLISH DEUTSCH FRANÇAIS ITALIANO ESPAÑOL

Tools needed for
installation

Für die Montage
benötigen Sie

Outils nécessaires
au montage

Attrezzi necessari per
l’installazione

Herramientas necesarias para
la instalación

Parts included Enthaltene Teile Pièces fournies Parti incluse Partes incluidas

Wall Mount for Bose® 
SoundTouch 300 Soundbar

Phillips head screwdriver
1/4 inch diameter drill bit for M5 
screws
7/32 inch diameter drill bit for 
M4 screws
Power drill
Hammer

2
2
1

2

Mounting brackets

Installation screws

Cord Cover

M4 Cord Cover Mounting Screws

M4 Cord Cover Drywall Anchors 

VHB Mounting Tape 

M5 Soundbar stud mounting 
screws

M5 Soundbar mounting screws 
(drywall)

M5 Soundbar drywall anchors 

2

1

4

4
4

2

2

1

2

Halterhung

Installationsschrauben

Kabelkanal

M4 Schrauben

M4 Dübel zur Wandmontage 

VHB Hochleistungsklebeband 

M5 Schrauben für Holzbalken 

M5 Schrauben zur Wandmontage

M5 Dübel zur Wandmontage 

2

1

4

2
2
1
2

Support de �xation

Vis de montage

Passe de câble

M4 vis                                    

M4 chevilles pour montage mural 

VHB Tape 

M5 vis pour poutres en bois

M5 vis pour montage mural           

M5 chevilles pour montage mural 

2

1

4

4

2
2
1
2

Sta�a di supporto

Viti di montaggio

Copri-cavi

M4 viti

M4 tasselli per montaggio a muro

VHB Nastro

M5 viti per trave di legno

M5 viti per montaggio a muro                                         

M5 tasselli per montaggio a muro

2

1

4

4

4

2
2
1
2

Soporte

Tornillos de instalactión

Cubierta de los cables

M4 tornillos

M4 tacos para montaje en pared

VHB Mounting Tape 

M5 tornillos para montaje en los 
pernos prisioneros

M5 tornillos para montaje en 
pared

M5 tacos para montaje en pared 

2

1

4

4
4

Wandhalterung für Bose® 
SoundTouch 300 Soundbar

Support mural pour Bose® 
SoundTouch 300 Soundbar

Supporto per montaggio a 
muro per Bose® SoundTouch 
300 Soundbar

Soporte de pared para Bose® 
SoundTouch 300 Soundbar

Kreuzschlitzschraubendreher
Bohrer-Bit mit 1/4” Durchmesser
Bohrer-Bit mit 7/32” 
Durchmesser
Bohrmaschine
Hammer

Tournevis Phillips
Foret Ø 6.4 mm (0,25”) 
Foret Ø 5.6 mm (0.21875”) 
Perceuse
Marteau

Cacciavite a croce
Punta trapano con diametro 
0,64 cm
Punta trapano con diametro 
0,56 cm
Trapano elettrico
Martello

Destornillador de cabeza Phillips
Broca de 6.4 mm (0,25 pulgadas)
Broca de 5.6 mm (0.21875 
pulgadas)
Taladro
Martillo

4

4
4



© 2018 HumanCentric Ventures LLC www.humancentric.com

1 2

3

16” Stud Centers

M5

M4

4

TV

M5

Note: The wall brackets can be stud 
mounted or drywall mounted.

click!

OR

Note: The cord cover (optional)
can be mounted with screws or
VHB tape.


